ORGANIC CHEMISTRY REVIEW QUESTIONS

A)  Draw the structures for the following compounds.


1) 2(butyne


2) toluene


3) pentane


4) 1,1,2(trichloroethane


5) 3(chloro(2(pentene


6) benzene


7) butanol

B) Name the following compounds, giving ALL  IUPAC  as  well as any COMMON NAMES.
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C) Write the structure of two aromatic hydrocarbons and name them.

D) Write the structure of an isomer of n(pentane and name it.

ANSWER THESE MULTIPLE CHOICE QUESTIONS

1. A reaction between an acid and alcohol produces an ester and

 
(1) carbon dioxide 
(2) water 
(3) glycerol 

(4) ethanol

 2. The reaction C3H6 + H2(C3H8 is an example of 


(1) substitution
(2) addition 
(3) polymerization 
(4) esterification

 3. If C2H4Br2 is the only product of a reaction between et he ne and bromine, the reaction is 


(1) an addition reaction 

(2) a substitution reaction 


(3) an esterification reaction 

(4) a hydrogenation reaction

 4. The product of a reaction between a hydrocarbon and chlorine was 1, 2-dichloropropane. The 
hydrocarbon must have been 


(1) C5HlO

(2) C2H4 

(3) C3H6 
(4) C4H8

5. The reaction C3H8(Cl7H35COO)3 + 3NaOH(3Cl7H35COONa + C3H5(OH)3 is an example of 


(1) polymerization 
(2) fermentation
(3) esterification 
(4) saponification

6. The fermentation of C6Hl2O6 will produce carbon dioxide and


(1) a polymer 

(2) a soap 

(3) an ester. 

(4) an alcohol

7. The reaction C4HlO + Br2(C4H9Br + HBr is an example of


(1) substitution 
(2) addition 

(3) fermentation 
( 4) polymerization

8. Which reaction produces ethyl alcohol as one of the principal  products? 


( 1) an esterification reaction 

(2) a neutralization ! reaction 


(3) a saponification reaction 

(4) a fermentation reaction

9. Which compound will react with CH3COOH to form the ester methylethanoate? 


(1) CH3OCH3 

(2) CH3COCH3 

(3) CH3OH

(4) CH3COOH

10. Compounds which have the same molecular formula but different molecular structures are called 


(1) isomers 

(2) isotopes

(3) allotropes 

(4) homologs

11. The compound C4H9OH is an isomer of 


(1) C3H7COCH3
(2) C2H5OC2H5 
(3) CH3COOC2H3 
(4) CH3COOH

12. Which compound is an isomer of CH3COOH? 


(I) HCOOCH3

(2) CH3CH2OH 
(3) CH3CH2COOH 
(4) CH3COOCH3
13. What is the IUPAC name for the compound below?
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(1) dibromoethyne     (2) dibromoethane     (3) 1, 2-dibromoethyne    (4) 1, 2-dibromoethane

14. Which compound contains three hydroxyl groups per molecule? 


(1) butanol 

(2) glycerol 

(3) ethanol 

(4) methanol

15. What is the total number of carbon atoms in a molecule of 2,2-dimethylpropane? 


(1) 5 

(2) 2

(3) 3 

(4) 4

16.. The structural formulas
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represent molecules which are both 


(1) halogen addition products 
(2) unsaturated hydrocarbons 


(3) members of the alkynes

(4) isomers of butane

17. Which structural formula represents an ALCOHOL?
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18. Which is an isomer of the compound propanoic acid, CH3CH2COOH? 


(1) CH2=CHCOOH 


(2) CH3CH2CH2COOH


(3) CH3CH(OH)CH2OH 

(4) HCOOCH2CH3
19. What is the total number of carbon atoms contained in an ethyl group? 


(1) 1 

(2) 2 

(3) 3 

(4) 4

20. What is the formula for pentanol? 


(1) C5H12 
(2) C5H11OH 

(3) C4H10 
(4) C4H9OH

21. The formula of methanoic acid is 


(1) HCHO 

(2) HCOOH 

(3)CH3OH 

(4) HCOOCH3

22. A solution of methanol differs from a solution of acetic acid in that the solution of acetic acid 


(1) contains molecules only 

(2) has a pH of 7 


(3) turns red litmus to blue 

(4) conducts electricity

23. Which compound represents a member of the benzene series?


(1) acetylene 

(2) ethylene 

(3) toluene 

(4) propene

24. An example of an organic acid is


 (1) CH3CH2CH2COOH 
(2) CH3COCH3
(3) CH3CH2OH
(4) HCHO

25. Which compound is a hydrocarbon?
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26. Which type of compound would have the following structural formula?
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(1) an ester  

(2) an acid 

(3) a hydrocarbon

(4) an alcohol

27. Which formula correctly represents an ester?

 
(1) CH3CH2CH2OH 

(2) CH3COCH3 
(3) CH3COOCH3
(4) CH3CH2COOH

28. A molecule of which alcohol contains more than one hydroxyl group?


(1) propanol 

(2) butanol 

(3) pentanol 

( 4) glycerol

29. The compound CH3COOCH3 is classified as 


(1) an acid

(2) an alcohol 

(3) an ester 

(4) a hydrocarbon

30. Which is the formula for ethanoic acid?


(1) CH3COOH 
(2) CH3CH2OH 
(3) CH3CH2COOH
 (4) CH3CH2CH2OH

31. Which organic reaction involves the bonding of monomers by a de-hydration process? 


(1) substitution    (2) oxidation    (3) addition polymerization    (4) condensation polymerization

32. The reaction represented by the equation    nC2H4 ( ( (C2H4 ()n    is called 


(1) saponification 
(2) esterification 
(3) fermentation 
(4) polymerization
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